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O 0O-000 00 O alter session set

nls_language=AMERICAN .alter session set
nls_language=SIMPLIFIED CHINESE. U O 0 OO oo oo
[J O O 1)0 O create table test as Oselect * from dept. -0 U [0 O [
0 O O 0O O O create table test as Oselect * from dept where 1=2. --
JO00000000000002)0000 0 insert into test
Oselect*fromdept I O OO OO OOON -*/0 0O O Oselect
00000000000 || Oselect deptno|| dname from dept. [
Jdodo0d0>>===000000notandord 00000
intersect J union] unionalld minusO OO0 OO0 0000000
JododododotdotdlongUooodooooo
OJO00O0Oorderbyb OO0 OUOOUOOUOOoOooooOn
000000000 O intersect L unionld union allld minus
Oselect * from emp intersect Oselect * from emp where deptno=10
.Oselect * from emp minus Oselect * from emp where
deptno=10.0select * from emp where deptno=10 union Oselect *
from emp where deptno in (10,20). --0J O 0O O O O Oselect * from
emp where deptno=10 union all Oselect * from emp where deptno in
(10,20).--0 000000 0O ORACLE O I sysdate[1 (1 [ [J
ODdwdld 000000000 O0OO0OOOO0O0O

O ]l,add months[O OO OO (W) O OOO@)dO

[1 ]J0select sysdate S1,add_months(sysdate,10)



S2,add_months(sysdate,5) S3 from dual.2,last day [ U OO O O O
[ 00 0O O 0O ] Oselect last_day(sysdate) from dual.
3,months_between[J 0O O O 0O O O O O O ]0select sysdate S1,
months_between(1-401 -04,sysdate) S2,months_between(1-4
[1-04,1-200 -04) S3 from dual4,next_day(d,day): 0 0O O 0O O O O
O0,dayd 1-70 00 O-00 0,10 0 0O O O Oselect sysdate
S1,next_day(sysdate,1) S2,next_day(sysdate,[] [1 [1) S3 FROM
DUALSround[U 000 0OO0OOO](day:D 0D OO00OOMO
[J [ )Oselect sysdate S1,round(sysdate) S2 ,round(sysdate,year)
YEAR,round(sysdate,month) MONTH ,round(sysdate,day) DAY
from dual6,trunc[J U OO OO O O O 0O O ] Oselect sysdate
S1,trunc(sysdate) S2,trunc(sysdate,year)
YEAR,trunc(sysdate,month) MONTH ,trunc(sysdate,day) DAY
fromdual7,0 0 00O OO OO O O O Oselect greatest(01-1
[1-04,04-100 -04,10-20 -04) fromdualD O D O OO (I O 0O O
DO0000000)1000 0 0 O Oselect substr(abcdef,1,3)
from dual2,0] OO UJ [0 O O Oselect instr(abcfdgfdhd,fd) from dual3,
0 0O 0O 0O O Oselect HELLO]|hello world from dual .4, 1)1 [ [0 [
[ O 0O O O Oselect Itrim( abc) s1,rtrim(zhang ) s2,trim( zhang ) s3
from dual2)] OO OO 0O 00 O [ Oselect trim(leading 9 from
9998767999) s1,trim(trailing 9 from 9998767999) s2,trim(9 from
9998767999) s3 from dual.5,00 O O OO OJ 0O O O OO Asciil] Oselect
ascii(a) from dual6,J O asciild O 0O O OJ O Oselect chr(97) from
dual7,00 O O O O O O Oselect length(abcdef) from dual8,initcap]
Doo0ood lower(d O 0O),upper(t] O O )O0select
lower(ABC) s1,upper(def) s2, initcap(efg) s3 from dual.



9,ReplaceOselect replace(abc,b,xy) from dual.10,translateOselect
translate(abc,b,xx) from dual. -- x[1 100 11,lpad [[J 00 [ ] rpad [
000000000 O )Oselect Ipad(func,15,=) s1,
rpad(func,15,-) s2 from dual.Oselect Ipad(dname,14,=) from
dept.12, decode[] I if ..then [J [ ]0select
deptno,decode(deptno,10,1,20,2,30,3,00 O ) from dept.00 I OO O [
010 00000ceill00O OO, floor 00O O O O Oselect
ceil(66.6) N1,floor(66.6) N2 from dual.2, [0 OJ (power) O 0O O O
[1 (sqrt)Oselect power(3,2) N1,sqrt(9) N2 from dual.3,[J [ Oselect
mod(9,5) fromdual 4,0 0000000 (round:00 00O O

[ trunc:0 O O [0 )Oselect round(66.667,2) N1,trunc(66.667,2) N2
fromdual. 5,0 000000 O000O0O01,00 0 -1)0select
sign(-32),sign(293) fromdual. 100Test U O O O OO O 0O O O O
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